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THREE YEAR B.Sc. DEGREE (CBCS) EXAMINATION — OCTOBER/NOVEMBER 2018
FIRST SEMESTER
Part IT - Physics (For Maths)
Paper | — MECHANICS AND PROPERTIES OF MATTER
(Revised Syllabus w.e.f. 20@1 7)

Time : 3 hours B Max. Marks : 75
© T TTSECTION-A |
PES -
(Essay questions)
(30 EI°5) DB)e0)
Answer ALL questions.

Q) (SO TATERHR0 FRAIA.

L » Margs-5x10=50) '

; @ (a) State and Verify Stokes theorem. '2_0\5"
¥8) 2)%"0@"&)& R, DH5808050.
Or

(b) Discuss line, surface and volume integrals.

BHAK, GSBBO 580K FoHTBATH FTEORIODR 56053500

2.  (a) Describe the principle of motion of rocket as a system of variable mass.

BESB50°R SR 085 K:mqesﬁ A0E &) A0 HGoBORW.
Or

() Explain about two dimensional oblique collisions to determine final velocities.

BD0BAH HerTres BPITTOR B0, BIGTOKH FDIHOL T2eRH.
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(b)

(a)

(b)

Deduce the rotational kinematic relations.

(3083 Yoo DG HEE Soaoprorn BYaHBasdmn.
Or

Deduce the relation between elastic constants of isotropic solids.

D033 ?.,Soé;’)mg;e)& 00208095 Z)‘o@ %%‘55 KOegd0e D05 5020650050 To2263580.

What is central force? Describe conservative nature of central force.

SoBa% weren @xmH? SoBah were RS SgErH0s SBowu0.

Or
Define Kepler’s laws. Deduce Kepler’s first law.

336 SrEres 985909 336 200563 Sor s &I BoBod0.

Explain about length contraction and time dilation.
Bgs T5E 50 BBt s F5E%50 (9B) K578 D5BoBIS.
e Or

Derive Einstein mass energy relation.

DI (55508 — 550 Boogme 5538608 T Bo59.

SECTION - B
WES -

(Short answer questions)
(Sg8) BBED (3%)e0)
Answer any THREE que.stions.
DD AT (550K ST B0e [Fo0E.
(Marks : 3 x 5 = 15)

Define gradient, divergence and curl.

P08, ©95I8EIR0 S08a%n §§e)36.> DEGD0WOD0.
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12.

Explain conservation of linear momentum.

BPHOD (SHFEI DB DODH0RO DIBOBIB.

Explain about precession of the .equinoxes.

DADEIO PE3)Beado0 K778 DHBoWH.

Explain the conservative force as a negative potential gradient.

So[Boh DBBS O 2.8 LTS (HILBN® DHBOBIR.

Describe about addition of velocit_ies.

AT H0EOHOR H8Y0BBD.
SECTION - C
% e
P 5 M e .
(B%),00)

Answer any TWO questions.
DD BOL [FH)OH SRITEEHB0LD FPO0H0.
(Marks :'2 x 5= 10)
Find divergence (grad S).

divergence (grad S) E50A"0500.

Write a note on impact parameter.

SDATS S0S K8y g FROAY.
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13.  Calculate Poisson’s ratio for silver. Given ifs Young’s modulus =7.25x10" N/m? and
bulk modulus =11x10% N /m?. :

D06 Br¥); AOOR D85 =7.25%1010 N/ DB Sxro MHLE5D =11x10" N/m? eows
00020 DHBR KRR 0500, -

14. The semi-major
in astronomical units. If the period of Mercury is 0.241 year, what is the period of Mars?
2060 08050 IOMTEEIE) Ste cﬁ.ns’b Qg éo)qg:svts S0 esgmd) &E30e D SKODJe
0.387 R*S (S0, 1.524 R®s [B0°e20 &Tmo00. QGED SFAI8H 500 0.241 Son ©aNB,
SOTPEND EFH5E S00.Jos?

15. State the postulates of special theory of relativity.
(5855 25 o D008)5 (B SHOR> BenS)An.
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